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SCIENCE & CIVILIZATION 

Time :1½ Hour                                                             Maximum Marks :50 

     SECTION –A  

   Answer any Two of the following in six lines. (2 × 13 = 26) 

 
        

Q1) Explain in detail about discoveries in the field of mathematics during 20th 

century. 
 20Ð@þ Ô¶ý™éº®…ÌZ Væü×ìý™èþ Ô>çÜˆ…ÌZ ÑÑ«§æþBÑçÙPÆæÿ×ýË$ Væü*Ça ™ðþËç³…yìþ. 
   

Q2) Describe team work. 
 çÜÑ$íÙxMæü–íÙ° ÑÐ@þÇ…^èþ…yìþ. 
   

Q3) Explain Egypt civilization. 
 Dhç³#t ¯éVæüÇMæü™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ.  

   

Q4) Givean account on theeffect of modern agriculture on environment. 
 B«§æþ$°MæüÐ@þÅÐ@þÝëÄ¶ý$…Ð@þË¯@þ ç³Æ>ÅÐ@þÆæÿ×ý… Oò³ {ç³¿êÐ@þ…¯@þ$ ™ðþËç³…yìþ. 
 
Q5) Explain the mechanism of RADAR. 
 ÆóÿyéÆŠÿ ç³°^óþÄ¶ý¬ Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
 
Q6) Explain alternative energy sources . 
 {ç³™éÅÐ@þ*²Ä¶ý$ Ô¶ýMìü¢ Ð@þ¯@þÆæÿ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
 
     SECTION –B 

     Answer any threeof the following. (3 × 4 = 12) 

 

Q7) a) Babylonians  
  »ê¼ÌZ°Ä¶ý$¯ŒþÞ 
 b) Natural medicines for Malaria. 
  Ð@þ$ÌôýÇÄ¶ý*&çÜçßýfLçÙ§éË$ 
 c) Insulin 
  C¯@þ$ÞÍ¯Œþ 
 
      



   

 d) AIDS 
  GÆÿ¬yŠþÞ 
 e) Equinoxes 
  DMìüÓ¯éMðüÞ‹Ü 
 f) Electric lamp 
  GË[MìütMŠüÌêÅ…‹³ 
 g) Child labour 
  »êËM>ÇÃMæü$Ë$ 
 h) Red data list 
  ÆðÿyŠþyóþsê º$MŠü 
 i) Gun powder  
  Væü¯Œþ ´ûyæþÆŠÿ 
     SECTION –C 

     Answer All questions. (3 × 4 = 12) 

 

Q8) Fill in the blanks: 
 RêäË¯@þ$ ç³NÇ…ç³#Ð@þ¬ : 
 a) Two types of vitamins______. 

  ÑrÑ$¯@þÏÆæÿM>Ë$____________. 
 b) Another Name for Vitamin- D ____________. 

  ÑrÑ$¯Œþ&DMæü$ Ð@þ$ÇÄñý¬Mæü õ³Ææÿ$____________. 
 c) Pancreas function____________. 

  ´ë…“MìüÄ¶ý*‹Ü Ñ«̈ ____________.  
 d) Types of fibres _______. 

  ´ùVæü$ËÆæÿMæüÐ@þ¬Ë$_______. 
 

Q9) Choose the correct word. 
 çÜÇOÄñý$¯@þ ç³§æþÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 

a) Antipyretics for 

i) Malaria  ii) Fever 

iii) Joint pains iv) Cough 
B…sìý Oò³ÇsìýMŠüÞ §óþ°MöÆæÿMæü$ 

i) Ð@þ$ÌôýÇÄ¶ý* ii) fÓÆæÿÐ@þ¬ 
iii) Mîüâ¶ýå¯öç³šË$ iv) §æþVæü$Y 
 
 

 

 
 



   

b) X- ray for  

i) To identify fractures of bones  ii) Muscle problems 

iii) Cancer treatment iv) Fertilizers 
GMŠüÞÆóÿ Ë$ §óþ°MöÆæÿMæü$ 
i) GÐ@þ¬MæüË ç³Væü$â¶ýå¯@þ$ Væü$Ç¢…^èþ$rMæü$ ii) Mæü…yæþÆ>Ë çÜÐ@þ$çÜÅËMæü$ 
iii) M> @̄þÞÆŠÿ {sîýsŒýÐðþ$…sŒýMæü$ iv) GÆæÿ$Ð@þ#Ë$Væü 
 

c)  Green Revolution started by 

i) M.S. Ramanadhan ii) Alexander Fleming 

iii) Norman Borlog iv) M.S. Swaminadhan 
çßýÇ™èþ Ñç³ÏÐ@þÐ@þ¬ GÐ@þÆæÿ$ Ððþ¬§æþË$ ò³sêtÆæÿ$. 
i) GÐŒþ$. G‹Ü. Æ>Ð@þ$¯é£æþ¯Œþ ii) AÌñýV>j…yæþÆŠÿòœÏÑ$…VŠü 
iii) ¯éÆæÿÃ Œ̄þ »ZÆ>ÏVŠü iv) GÐŒþ$. G‹Ü. ÝëÓÑ$¯é£æþ¯Œþ 
 

d)  Bio -mass energy.  

i) Bio -gas ii) Petrocorps 

iii) Ethanol iv) All of the above 
ºÄñý*Ð@þ*‹Ü G¯@þÈj 
i) ºÄñý*V>Å‹Ü ii) ò³{sZM>ÆŠÿµüÞ 
iii) C£æþ¯éÌŒý iv) Oò³Ð@þ°²Ä¶ý¬ 

 

Q10) Match the following : 

a) Soil erosion i)     Cancer 

b) Quinine  ii)    AIDS 

c) HIV   iii)    Deforestation  

d) Radium Therapy iv)    Malaria 

“Mìü…¨ Ðésìý° f™èþç³Ææÿ$^èþ$Ð@þ¬: 
a) Ð@þ$–†¢Mæü “MæüÐ@þ$„æüÄ¶ý$… i)M>¯@þÞÆŠÿ 
b) MìüÓŌ ðþ¯Œþ  ii)GÆÿ¬yŠþÞ 
c) HIV   iii)Ð@þ¯@þÑ¯éÔ¶ý¯@þ… 

d) ÆóÿyìþÄ¶ý$… £ðþÆæÿí³ iv)Ð@þ$ÌôýÇÄ¶ý* 

*** 
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BUSINESS LAWS  
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     SECTION - A  

     Answer any four of the following. (4 × 3 = 12) 
        

Q1) Offer and Acceptance. 
 {ç³†´ë§æþ¯@þ Ð@þ$ÇÄ¶ý¬ ïÜÓMæü–†. 
  

Q2)  Capacity of Parties. 
 ´ëÈtË AÆæÿá™èþ. 
   

Q3)  Sale by non-owner. 
 Ä¶ý$fÐ@þ*¯óþ™èþÆæÿ Ð@þÅMìü¢ §éÓÆ> AÐ@þ$ÃMæüÐ@þ¬. 
   

Q4) Bailment. 
 O»ñýÌŒýÐðþ$…sŒý. 
  

Q5) Right to Lien. 
 Î¯Œþ çßýMæü$P. 
  

Q6) Resolutions. 
 ¡Æ>Ã¯éË$. 
  

Q7) Doctrine of ultravirus. 
 A«̈ M>Æ>¡™èþ íÜ§é®…™èþÐ@þ¬. 
  

SECTION – B 

     Answer any two of the following. (2 × 8 = 16) 

   
  

Q8) Explain the Bailment Contract. 
 »ñýÆÿ¬ÌŒýÐðþ$…sŒý M>…{sêMæü$t̄ @þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q9) Explain the modes of revocation of agency. 
 Hf±Þ Ææÿ§æþ$ª ^ðþ…§æþ$ ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 
Q10) Essentials of valid Consideration. 
 {ç³†çœËÐ@þ¬ Äñý¬MæüP BÐ@þÔ¶ýÅMæü™èþÌôýÑ. 
 



   

Q11) Essentials of valid Acceptance. 
 ïÜÓMæü–†Mìü M>Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþË$. 
  

Q12) Explain the Indemnity Contract. 
 C…yìþÑ$²sîý M>…{sêMæü$t̄ @þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

     SECTION – C 

     Answer any three of the following. (3 × 14 = 42) 

 

Q13) All contracts are agreements but all the agreements are not Contract. 
 M>…{sêMæü$tË±² Jç³µ…§éÌôý M>° Jç³µ…§éË±² M>…{sêMæü$tË$ M>§æþ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q14) What are the remedies available for Breach of Contract? 
 M>…{sêMæü$t ¿¶ý…V>°Mìü °ÐéÆæÿ×Z´ëÄ¶ý$Ð@þ¬Ë¯@þ$ ™ðþË$ç³#Ð@þ¬. 
  

Q15) Explain the Implied conditions and warranties. 
 {ç³^èþē @þ² çÙÆæÿ™èþ$Ë$, ç³N`Ë @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
      

Q16) Write about the Consumer Protection Act. 
 Ñ°Äñý*Væü§éÆæÿ$Ë ç³ÇÆæÿ„æü×ê ^èþrtÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q17) What are the various modes by which company is winding up? 
 Mæü…ò³± ç³ÇçÜÐ@þ*í³¢ ^ðþ…§æþ$ ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q18) Write about the agency by ratification.  
 «§æþ–ÒMæüÆæÿ×ý Hf±Þ° Væü*Ça ÑÐ@þÇ…^èþ$Ð@þ¬. 

  

���� 
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INCOME TAX AND PRACTICAL AUDITING 
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     SECTION - A  

     Answer any Two of the following. (2 × 3 = 6) 
        

Q1) Error and Fraud. 
 ™èþç³šË$ Ð@þ$ÇÄ¶ý¬ Ððþ*ÝëË$. 
  

Q2)  Audit engagement letter. 
 ByìþsŒý °Ä¶ý*Ð@þ$Mæü ç³{™èþÐ@þ¬. 
   

Q3)  Examples of non current assets. 
 {ç³çÜ$¢™óþ™èþÆæÿ BçÜ$¢ËMæü$ E§éçßýÆæÿ×ýÐ@þ¬Ë$. 
   

Q4) Interest and dividend. 
 Ð@þyîþz Ð@þ$ÇÄ¶ý¬ yìþÑyðþ…yŠþ. 
 

SECTION – B 

     Answer any Two of the following. (2 × 14 = 28) 
  

Q5) Enunciate the advantages of Auditing. 
 Byìþsìý…VŠü Äñý¬MæüP Eç³Äñý*V>Ë$ ™ðþË$µÐ@þ¬. 
  

Q6) Explain the methods of obtaining Audit Evidence. 
 ByìþsŒý B§éÆæÿÐ@þ¬Ë$ H ç³§æþ®™èþ$Ë §éÓÆ> ´÷…§æþ$§æþ$Ææÿ$. 
  

Q7) Explain the meaning and objectives of Internal check. 
 A…™èþÆæÿY™èþ ™èþ°T AÆæÿ®Ð@þ¬ Ð@þ$ÇÄ¶ý¬ «§óþÅÄ¶ý*Ë$ ÑÐ@þÇ…ç³#Ð@þ¬.   

  

Q8) Explain the Statutory Auditor’s Rights. 
 {́ ëÐ@þ*×ìýMæü ByìþrÆæÿ$ Äñý¬MæüP çßýMæü$PË$ ™ðþË$µÐ@þ¬. 
  

SECTION – C 

     Answer any Two of the following. (2 × 3 = 6) 
 

Q9) Previous year and Assessment year. 
 Væü™èþ çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ç³¯@þ$² °Æ>®Ææÿ×ý çÜ…Ð@þ™èþÞÆæÿÐ@þ¬. 
Q10) Public Provident Fund. 
 {ç³gê ¿¶ýÑçÙÅ °«̈ . 
 



   

Q11) Partially exempted incomes. 
 ´ë„ìüMæü…V> ç³¯@þ$² ¯@þ$…yìþ Ñ$¯@þàÆÿ¬…ç³ºyìþ¯@þ B§éÄ¶ý*Ë$. 
  

Q12) Heads of income. 
 B§éÄ¶ý$ ÖÇÛMæüË$. 
  

     SECTION – D 

     Answer any Two of the following. (2 × 15 = 30) 

 

Q13) State the deducting from salary income of an assesses under section 80C of 

income tax Act. 

 òÜ„æü¯Œþ 80C B§éÄ¶ý$ ^èþrt… {ç³M>ÆæÿÐ@þ¬, AòÜïÜÞ Äñý¬MæüP i™èþ… ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬ 
ÌñýMìüP…^èþ$¯@þç³šyæþ$ Ðésìý @̄þ$…yìþ ™èþWY…ç³#Ë$ Væü*Ça ÑÐ@þÇ… è̂þ$Ð@þ¬. 

  

Q14) How do you determine the residential status of a individual? 
 Ð@þÅMìü¢ Äñý¬MæüP °ÐéçÜ {ç³†ç³†¢° HÑ«§æþ…V> °Ææÿ~Æÿ¬…™èþ$Ææÿ$. 
  

Q15) From the following particulars compute taxable income from salary for the year 

ended 31st March 2016. 

• Basic salary Rs. 42,600 per month. 

• Dearness allowances 25% of basic salary. 

• Bonus   Rs. 25,000 

• City compensatory allowance  Rs. 13,000 

• Fixed medical allowance  Rs. 10,000 

• Special allowance  Rs. 18,000 

• Laptop   Rs. 65,000 

• House rent allowance received  Rs. 62,000 

• Rent paid (Guntur)  Rs. 84,000 

• Interest Free loans granted to ` 15,000 for medical purpose  

 of the assessee. Interest rate as per SBI rate is 10% per annum. 

• Employer’s contribution to SPF  ` 36,000 

• Employee own contribution to SPF  ` 36,000 

• LIP Paid   ` 24,000 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) Cost Centre; Cost unit. 
 Ð@þÅÄ¶ý$ Móü…{§æþÐ@þ¬ (M>‹Üt òÜ…rÆŠÿ); M>‹Üt Ä¶ýÊ°sŒý. 
  

Q2)  Imputed cost; Sunk cost. 
 CÐŒþ$ç³NÅsñýyŠþ M>‹Üt; çÜ…MŠü M>‹Üt. 
   

Q3)  Over time. 
 A«̈ Mæü çÜÐ@þ$Ä¶ý$… (KÐ@þÆŠÿ OsñýÐŒþ$). 
   

Q4) Escalation clause. 
 GçÜPÌôýçÙ¯Œþ M>ÏgŒý. 
  

Q5) Debt, Equity Ratio. 
 Aç³š, DMìüÓsîý °çÙµ†¢. 
  

Q6) Window dressing. 
 VæüÐé„æü. 
  

Q7) Operating Ratio. 
 °ÆæÿÓçßý×ý °çÙµ†¢ (Bç³Æóÿsìý…VŠü °çÙµ†¢). 
  

Q8) Work-in-progress. 
 Mö¯@þÝëVæü$™èþ$¯@þ² ç³°. 
   

     SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 
    

Q9) What are the characteristics of ideal cost accounting system? Discuss. 
 B§æþÆæÿØ (Ð@þ$…_) Ð@þÅÄ¶ý$ (M>‹Üt) AMú…sìý…VŠü Ñ«§é¯@þÐ@þ¬ Äñý¬MæüP Ë„æü×êË$ HÑ$sìý? 

^èþÇa…^èþ…yìþ. 
 
Q10) Explain the advantages and limitations of Ratio analysis. 
 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý Äñý¬MæüP {ç³Äñý*f¯éË¯@þ$, ç³ÇÑ$™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
 



   

Q11) Prepare stores ledger from the following information as per LIFO method for 

March 2016. 

   Receipts  Issues 

  March 1 300 units @ ` 2 p/u March 3 125 units 

  ” 14 250 units @ ` 3 p/u ” 16 175    ” 

  ” 20 560 units @ ` 2.50 p/u ” 22   90    ” 

 On March 24, 10 units issued on March 16 were returned by the department to 

the stores and on 31
st
 March a difference of 14 units was found as per physical 

verification. 
 “Mìü…¨ ÑÐ@þÆ>Ë @̄þ$…_ March 2016Mìü ‘LIFO’ ç³§æþ®†ÌZ ÝùtÆŠÿÞ BÐ@þÆ>j̄ @þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 
    Ð@þçÜ*â¶ý$å  gêÈË$ 
   Ð@þ*Ça 1 300 Ä¶ýÊ°r$Ï @ Ææÿ*. 2 Ä¶ýÊ°sŒý JMæüP…sìýMìü Ð@þ*Ça 3 125 Ä¶ýÊ°r$Ï 
   ” 14 250         ”       @ Ææÿ*. 3               ” ” 16 175        ” 
   ” 20 560         ”       @ Ææÿ*. 2.50          ” ” 22 90          ” 
 Ð@þ*Ça 24¯@þ, 10 Ä¶ýÊ°r$Ï Ð@þ*Ça 16¯@þ gêÈ ^óþíÜ¯@þÑ Ðéç³‹Ü ó̂þÄ¶ý$ºyìþ¯@þÑ. Ð@þ*Ça 31 @̄þ ÝëtMŠü ™èþ°TÌZ 14 

Ä¶ýÊ°rÏ ™óþyé Mæü°í³…_…¨. 
  

Q12) The Information given below is taken from the costing records of an engineering 

works in respect of Job No. 303. 

 Materials ` 4010 

 Wages : 

  Department : A - 60 hours @ ` 3 p/h 

           ”   B - 40 hours @ ` 2 p/h 

   ”   C - 20 hours @ ` 5 p/h 

 Overhead expenses for these three departments were estimated as follows. 

 Variable overheads : 

  Department : A - ` 5,000 for 5,000 Labour hours 

   ”   B - ` 3,000    ”  1,500          ” 

   ”   C - ` 2,000    ”     500          ” 

 Fixed overheads : 

  Estimated at ` 20,000 for 10,000 Normal working hours.  

 You are required to calculate the cost of Job No. : 303 and calculate the price to 

give profit of 25% on Selling Price. 
 “Mìü…§æþ C_ā @þ ÑÐ@þÆ>Ë$ JMæü C…f±Ç…VŠü Ð@þÆŠÿPüÞ ç³#çÜ¢M>Ë ¯@þ$…_ gê»Œý ð̄þ…. 303Mæü$ ^ðþ…¨¯@þÑ. 
 Ððþ$sîýÇÄ¶ý$ÌŒýÞ Ææÿ*. 4010 
 Ðóþ™èþ¯éË$ : 
 Ñ¿êVæüÐ@þ¬ : A -  60 Væü…rËMæü$ Væü…rMæü$ Ææÿ*. 3 ^öç³š¯@þ 
     B -  40      ”            ”      Ææÿ*. 2      ” 
     C -  20      ”            ”      Ææÿ*. 5      ” 

 Oò³ Ð@þÊyæþ$ Ñ¿êV>Ë Äñý¬MæüP ç³Æø„æü Ð@þÅÄ¶ý*Ë$ A… è̂þ¯é ÐóþíÜ¯@þÑ. 
 ^èþÆæÿ ç³Æø„æü Ð@þÅÄ¶ý*Ë$ : 
   Ñ¿êVæüÐ@þ¬ : A -   Ææÿ*. 5,000,  5000Ë “Ô>Ñ$Mæü Væü…rËMæü$ 
        ” B -  Ææÿ*. 3,000,   1500Ë       ”          ” 

        ” C -  Ææÿ*. 2,000,     500Ë       ”          ” 

 íÜ®Ææÿ ç³Æø„æü Ð@þÅÄ¶ý*Ë$ : 
   A… è̂þ¯é ÐóþíÜ¯@þÑ Ææÿ*. 20,000, 10,000 Ýë«§éÆæÿ×ý ç³° Væü…rËMæü$  



   

 Job 303  Äñý¬MæüP Ð@þÅÄ¶ý$…¯@þ$ Mæü¯@þ$Vö° AÐ@þ$ÃMæüç³# «§æþÆæÿOò³ 25% Ìê¿¶ý… BÇj…^éË¯é² H«§æþÆæÿMæü$ 
AÐ@þ*ÃÌZ °Ææÿ~Æÿ¬… è̂þ…yìþ. 

 
SECTION – C 

     Answer any Three of the following (3 × 14 = 42) 

 

Q13) In an Engineering factory, the following particulars have been extracted for the 

quarter ended 31 Dec. 2016. Compute the departmental overhead rate for each of 

the production department, assuming that overheads are recovered as a 

percentage of direct wages. 

 Particulars   Production Dept.                  Service Dept. 

     A B C X Y 

 Direct wages ` 30,000 ` 45,000 ` 60,000 ` 15,000 ` 30,000 

 Direct material ` 15,000 ` 30,000 ` 30,000 ` 22,000 ` 22,500 

 Staff number 1,500 2,250 2,250 750 750 

 Electricity kWh 6,000 4,500 3,000 1,500 1,500 

 Asset value ` 60,000 ` 40,000 ` 30,000 ` 10,000 ` 10,000 

 Light points 10 16 4 6 4 

 Area in Sq. Yards 150 250 50 50 50 

 The expenses for the period were 

     `  ` 

 Power  1,100 Stores overheads 800 

 Lighting  200 Welfare to staff 3,000 

 Depreciation 30,000 Repairs 6,000 

 General overheads 12,000 Rent and Taxes 550 

 Apportion the expenses of Service department ‘Y’ according to direct wages and 

those of Service department X in the ratio of 5 : 3 : 2 to the production 

departments. 

 

 

 “Mìü…¨ ÑÐ@þÆ>Ë$ JMæü C…f±Ç…VŠü Mæü…ò³±Mæü$ ^ðþ…¨ @̄þ 31 yìþòÜ…ºÆŠÿ 2016 ¯ésìý JMæü M>ÓÆæÿtÆŠÿMìü 
çÜ…º…«̈ …_ @̄þÑ. Ñ¿êV>Ë ç³Æø„æü Ð@þÅÄ¶ý$ Æóÿr$¯@þ* {ç³¡ E™èþµ†¢ Ñ¿êV>°Mìü, ç³Æø„æü 
Ð@þÅÄ¶ý*Ë$ {ç³™óþÅMæü Ðóþ™èþ¯éËOò³ Ô>™èþ…V> ÇMæüÐ@þÈ ^óþÄ¶ý*Ë° ¿êÑçÜ*¢ ÌñýMæüPMæürt…yìþ. 

 ÑÐ@þÆ>Ë$    E™èþµ†¢ Ñ¿êV>Ë$                õÜÐé Ñ¿êV>Ë$ 
     A B C X Y 
 {ç³™èþÅ„æü Ðóþ™èþ¯éË$  Ææÿ*. 30,000 Ææÿ*. 45,000 Ææÿ*. 60,000 Ææÿ*. 15,000 Ææÿ*. 30,000 
 {ç³™èþÅ„æü Ððþ$sîýÇÄ¶ý$ÌŒýÞ  Ææÿ*. 15,000 Ææÿ*. 30,000 Ææÿ*. 30,000 Ææÿ*. 22,000 Ææÿ*. 22,500 
 ç³° ÐéÇ çÜ…QÅ  1,500 2,250 2,250 750 750 
 Ñ§æþ$Å^èþeMìü¢ kWh  6,000 4,500 3,000 1,500 1,500 



   

 BíÜ¢ ÑË$Ð@þ   Ææÿ*. 60,000 Ææÿ*. 40,000 Ææÿ*. 30,000 Ææÿ*. 10,000 Ææÿ*. 10,000 
 OÌñýsŒý ´ëÆÿ¬…r$Ï  10 16 4 6 4 
 çÜ¦Ë… Sq. Yards  150 250 50 50 50 
 B M>Ìê°Mìü QÆæÿ$aË$ : 
     Ææÿ*.  Ææÿ*. 
 ç³Ð@þÆŠÿ    1,100 ÝùtÆŠÿÞ Ð@þÅÄ¶ý*Ë$ 800 
 OÌñýsìý…VŠü   200 ç³° ÐéÇ çÜ…„óüÐ@þ$ QÆæÿ$aË$ 3,000 
 ™èþÆæÿ$Væü$§æþË   30,000 Çõ³Ææÿ$Ï 6,000 
 Ýë«§éÆæÿ×ý ç³Æø„æü QÆæÿ$aË$ 12,000 A§ðþª Ð@þ$ÇÄ¶ý¬ ç³¯@þ$²Ë$ 550 
 õÜÐé Ñ¿êVæüÐ@þ¬ ‘Y’QÆæÿ$aË¯@þ$  {ç³™èþÅ„æü Ðóþ™èþ¯éË °çÙµ†¢ÌZ, ‘X’ QÆæÿ$aË¯@þ$ 5 : 3 : 2 °çÙµ†¢ÌZ 

E™èþµ†¢ Ñ¿êV>ËMæü$ ç³…^èþ…yìþ. 
  
Q14) The following expenses are related to the production of 1,000 units during the 

month of August 2016. 

      `  ` 

 Direct materials  12,000 Office expenses 1,500 

 Wages   10,000 Other factory expenses 500 

 Factory rent, taxes 1,000 Office salaries 1,800 

 Depreciation on machinery 1,000 Printing & stationery 400 

 Supervisor’s salary 2,000 Selling expenses 2,500 

 Indirect material 500 

 Indirect Labour  300 

 Prepare cost sheet and show the percentage of various costs on total cost. 

 

 

 

 

 
 

 “Mìü…¨ QÆæÿ$aË$ 1,000 Ä¶ýÊ°rÏ E™èþµ†¢ BVæüçÙ$t 2016Mæü$ ^ðþ…¨¯@þÑ. 
     Ææÿ*.  Ææÿ*. 
 {ç³™èþÅ„æü Ððþ$sîýÇÄ¶ý$ÌŒýÞ 12,000 BïœçÜ$ QÆæÿ$aË$ 1,500 
 Ðóþ™èþ¯éË$   10,000 C™èþÆæÿ ¸ëÅMæütÈ QÆæÿ$aË$ 500 
 ¸ëÅMæütÈ A§ðþª, ç³¯@þ$²Ë$ 1,000 BïœçÜ$ i™éË$ 1,800 
 Ä¶ý$…{™éËOò³ ™èþÆæÿ$Væü$§æþË 1,000 Ð@þ¬{§æþ×ý, õÜtçÙ¯@þÈ 400 
 çÜ*ç³ÆŠÿOÐðþfÆŠÿ i™èþÐ@þ¬ 2,000 AÐ@þ$ÃMæüç³# QÆæÿ$aË$ 2,500 
 ç³Æø„æü Ððþ$sîýÇÄ¶ý$ÌŒýÞ 500 
 ç³Æø„æü “Ô¶ýÐ@þ$   300 
 Ð@þÅÄ¶ý$ °Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþíÜ ÑÑ«§æþ Ð@þÅÄ¶ý*Ë Ô>™éË¯@þ$, Ððþ¬™èþ¢… Ð@þÅÄ¶ý$…™ø 

ÌñýMæüPMæürt…yìþ. 



   

  

Q15) Following is the Balance Sheet of Z Ltd. as at 31.3.17. 

 Liabilities   ` Assets ` 

 50,000 equity shares of   Fixed assets : 

 10/- each   5,00,000 Original cost  11,50,000  

 5,000, 10% preference shares   – Dep. 2,00,000 9,50,000 

 of 10/- each  50,000 Investments : 

 General Reserve 50,000 10% Trade Investments 50,000 

 Profit and Loss A/c 1,25,000 10% Other Investments 25,000 

 12% Debentures 4,00,000 (Face value ` 35,000) 

 Current Liabilities 1,70,000 Current assets 2,20,000 

      Preliminary expenses 50,000 

     12,95,000  12,95,000 

 Net Profit after Interest and Tax for the year 2016-17 ` 1,21,500. Tax Rate 40%. 

Calculate Return on Investment for the year 2016-17 and Debt. Equity Ratio; 

Working Capital Turnover Ratio, if sales during the year amounted to                         

` 1,80,000. 
“Mìü…¨ BíÜ¢ Aç³šË ç³sìýtMæü 31.3.17 ¯ésìý ‘Z’ ÍÑ$sñýyŠþ ÐéÇ¨. 
Aç³šË$   Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 
50,000 DMìüÓsîý ÐésêË$  íÜ¦Æ>çÜ$¢Ë$ :   
10/& ^öç³š¯@þ  5,00,000 AçÜË$ «§æþÆæÿ 11,50,000 
5,000, 10% B«̈ MæüÅç³# Ðésê  (&) ™èþÆæÿ$Væü$§æþË 2,00,000 9,50,000 
 Ð@þÊË«§æþ¯@þ… 10/& ^öç³š¯@þ 50,000 ò³r$tºyæþ$Ë$ : 
Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó  50,000 10% Ð@þÆæÿ¢Mæüç³# ò³r$tºyæþ$Ë$  50,000 
Ìê¿¶ý @̄þÚëtË Rê™é 1,25,000 10% C™èþÆæÿ ò³r$tºyæþ$Ë$  25,000 
12% yìþ»ñý…^èþÆæÿ$Ï  4,00,000 (ç³#çÜ¢Mæüç³# ÑË$Ð@þ Ææÿ*. 35,000) 
{ç³çÜ$¢™èþ Aç³šË$  1,70,000 {ç³çÜ$¢™èþ BçÜ$¢Ë$  2,20,000 

     {́ ë£æþÑ$Mæü QÆæÿ$aË$  50,000 

    12,95,000   12,95,000 

Ð@þyîþz Ð@þ$ÇÄ¶ý¬ ç³¯@þ$² ¡íÜÐóþíÜ¯@þ ™èþÆæÿ$Ðé™èþ 2016&17 çÜ…‘‘Mìü °MæüÆæÿ Ìê¿¶ý… 1,21,500. ç³¯@þ$² 
Ô>™èþ… 40%; B çÜ…Ð@þ™èþÞÆ>°Mìü ROI¯@þ$, Aç³š, DMìüÓsîý °çÙµ†¢°, °ÆæÿÓçßý× Ð@þÊË«§æþ¯@þ rÆø²Ð@þÆŠÿ 
°çÙµ†¢° B çÜ…Ð@þ™èþÞÆæÿ…ÌZ AÐ@þ$ÃM>Ë$ Ææÿ*. 1,80,000 AÆÿ¬¯@þsñý•Ï̄ @þ ÌñýMæüPMæürt…yìþ. 

      

  



   

Q16) Prepare the Common Size Balance Sheet of ‘X’ Ltd. as at 31.3.2016 and 2017. 

Comment. 

 Liabilities   2016 2017 Assets 2016 2017 

     ` `  ` ` 

 Equity share capital 8,00,000 6,00,000 Fixed Assets 10,00,000 8,00,000 

 Preference share    Investments 2,00,000 2,00,000 

 capital   4,00,000 2,00,000 Current Assets 7,00,000 4,10,000 

 Reserves and Surplus 2,00,000 2,00,000 

 Debentures   2,00,000 2,00,000 

 Current liabilities  3,00,000 2,10,000 

     19,00,000 14,10,000  19,00,000 14,10,000 

 ‘X’ ÍÑ$sñýyŠþ ÐéÇ 31.3.2016 Ð@þ$ÇÄ¶ý¬ 2017Mæü$ çÜ…º…«̈ …_ @̄þ BíÜ¢ Aç³šË ç³sìýtMæü 
¯@þ$…_ çÜÐ@þ$ ç³ÇÐ@þ*×ý BíÜ¢ Aç³šË ç³sìýtMæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. ÑÐ@þÆæÿ×ý °Ð@þÓ…yìþ. 

 Aç³šË$    2016 2017 BçÜ$¢Ë$ 2016 2017 

     Ææÿ*. Ææÿ*.  Ææÿ*. Ææÿ*. 

 DMìüÓsîý Ðésê Ð@þÊË«§æþ¯@þ… 8,00,000 6,00,000 íÜ¦Æ>çÜ$¢Ë$ 10,00,000 8,00,000 

 B«̈ MæüÅç³# Ðésê Ð@þÊË«§æþ¯@þ… 4,00,000 2,00,000 ò³r$tºyæþ$Ë$ 2,00,000 2,00,000 

 ÇfÆæÿ$ÓË$, Ñ$Væü$â¶ý$å  2,00,000 2,00,000 {ç³çÜ$¢™èþ BçÜ$¢Ë$ 7,00,000 4,10,000 

 º¬×ý“VæüçÜ$¢Ë$   2,00,000 2,00,000 

 {ç³çÜ$¢™èþ Aç³šË$   3,00,000 2,10,000 

     19,00,000 14,10,000  19,00,000 14,10,000 
  
Q17) The following figures are extracted from the books of a company for the year 

ended 31.3.2016. 

 If the plant and material charged to the contract the plant whose cost was ` 3,000 

and materials costing ` 2,400 were lost. On 31.3.2016 the plant of the cost of             

` 3,000 was returned to the stores. Material costing ` 2,400 were in site. The cost 

of work uncertified was ` 1,200. The contract price was ` 3,00,000. Charge 10% 

depreciation on plant and prepare contract account, work-in-progress a/c and 

Balance Sheet on 31.3.2017 from the following trial Balance.  

     Dr. (`) Cr. (`) 

 Share Capital   72,000 

 Creditors    6,000 



   

 Cash recd. on contract 80% of work certified  1,20,000 

 Land and Building 25,800 

 Cash at Bank  15,000 

 Charged to Contract : 

 Materials   54,000 

 Plant    15,000 

 Labour   84,000 

 Expenses   4,200 

     1,98,000 1,98,000 

 “Mìü…¨ ÑÐ@þÆ>Ë$ 31.3.2016™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü JMæü Mæü…ò³±Mìü ^ðþ…¨¯@þÑ. 
 M>…{sêMæü$tMæü$ ^éÇj ^óþÄ¶ý$ºyìþ¯@þ ´ëÏ…r$ Ð@þ$ÇÄ¶ý¬ Ððþ$sîýÇÄ¶ý$ÌŒýÞ ¯@þ$…_ Ææÿ*. 3,000 ÑË$Ð@þ 

VæüË ´ëÏ…r$ Ð@þ$ÇÄ¶ý¬ Ææÿ*. 2,400 ÑË$Ð@þ VæüË Ððþ$sîýÇÄ¶ý$ÌŒýÞ ´ùÆÿ¬¯@þÑ. 31.3.2016¯@þ  Ææÿ*. 
3,000 ÑË$Ð@þ VæüË ´ëÏ…r$ ÝùtÆŠÿÞMæü$ Ðéç³‹Ü ^óþÄ¶ý$ºyìþ¯@þÑ. Ððþ$sîýÇÄ¶ý$ÌŒýÞ Ææÿ*. 2,400 
ÑË$Ð@þVæüË¨ OòÜsŒý Ð@þ§æþª E…¨. «§æþ–ÒMæüÇ…^èþ° ç³° ÑË$Ð@þ Ææÿ*. 1,200. M>…{sêMæü$t «§æþÆæÿ                
Ææÿ*. 3,00,000. ´ëÏ…r$Oò³ ™èþÆæÿ$Væü$§æþË 10%. M>…{sêMæü$t Rê™é @̄þ$, Mö¯@þÝëVæü$™èþ$¯@þ² ç³° 
Rê™é @̄þ$ Ð@þ$ÇÄ¶ý¬ BíÜ¢ Aç³šË ç³sìýtMæü¯@þ$ 31.3.2017 ¯ésìýMìü “Mìü…¨ A…Mæü×ê @̄þ$…_ 
™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 
    Dr. Ææÿ*. Cr. Ææÿ*. 
 Ðésê Ð@þÊË«§æþ @̄þÐ@þ¬  72,000 
 º¬×ý§é™èþË$  6,000 
 «§æþ–ÒMæüÇ…_ @̄þ 80% M>…{sêMæü$tMóü ¯@þVæü§æþ$ Ð@þçÜ*Ë$  1,20,000 
 ¿¶ý*Ñ$ ¿¶ýÐ@þ¯éË$ 25,800 
 »ê…Mæü$ÌZ ¯@þVæü§æþ$ 15,000 
 M>…{sêMæü$tMæü$ ^éÇj ^óþÄ¶ý*ÍÞ̄ @þÑ : 
 Ððþ$sîýÇÄ¶ý$ÌŒýÞ 54,000 
 ´ëÏ…r$  15,000 
 “Ô¶ýÐ@þ$   84,000 
 QÆæÿ$aË$  4,200 
    1,98,000 1,98,000 
 
Q18) A company manufactures 5,000 units of a product per month. The cost of 

placing an order is ` 100. The purchase price of the raw material is ` 10 per kg. 

The re-order period is 4 to 8 weeks. The consumption raw material varies from 



   

100 kg to 450 kg per week. The average consumption being 275 kg. The 

carrying cost of Inventory is 20% per Annum. You are required to calculate : 

a) Re-order Quantity. b) Re-order Level. 

c) Maximum Level. d) Minimum Level. 

e) Average Stock Level. 
 JMæü Mæü…ò³± 5,000 Ä¶ýÊ°rÏ Ð@þçÜ$¢Ð@þ#¯@þ$ ¯ðþËMæü$ E™èþµ†¢ ^óþçÜ$¢…¨. BÆæÿzÆŠÿ Äñý¬MæüP «§æþÆæÿ                 

Ææÿ*. 100. Ð@þ¬yìþ ç³§éÆæÿ®Ð@þ¬ Äñý¬MæüP Mö¯@þ$VøË$ «§æþÆæÿ Ææÿ*. 10 JMæü Móüh Mìü. È BÆæÿzÆŠÿ M>ËÐ@þ¬ 4 
¯@þ$…_ 8 ÐéÆ>Ë$. Ð@þ¬yìþ ç³§éÆ>®Ë Ñ°Äñý*VæüÐ@þ¬ ÐéÆ>°Mìü 100 MóüiË ¯@þ$…_ 450 MóüiË 
Ð@þÆæÿMæü$. çÜVæür$ Ñ°Äñý*VæüÐ@þ¬ 275 MóüiË$. C¯ðþÓ…rÈ Äñý¬MæüP MóüÈÆÿ¬…VŠü M>‹Üt 20% 
çÜ…Ð@þ™èþÞÆ>°Mìü. Ò$Ææÿ$ 
a) È BÆæÿzÆŠÿ ç³ÇÐ@þ*×ýÐ@þ¬ b) È BÆæÿzÆŠÿ Ýë¦Æÿ¬ 
c) VæüÇçÙx Ýë¦Æÿ¬ d) Mæü°çÙx Ýë¦Æÿ¬ 
e) çÜVæür$ ÝëtMŠü Ýë¦Æÿ¬Ë¯@þ$ ÌñýMæüPMæürt…yìþ. 
 

 
���� 

Q10) Public Provident Fund. 
 {ç³gê ¿¶ýÑçÙÅ °«̈ . 
 

Q11) Partially exempted incomes. 
 ´ë„ìüMæü…V> ç³¯@þ$² ¯@þ$…yìþ Ñ$¯@þàÆÿ¬…ç³ºyìþ¯@þ B§éÄ¶ý*Ë$. 
  

Q12) Heads of income. 
 B§éÄ¶ý$ ÖÇÛMæüË$. 
  

     SECTION – D 

     Answer any Two of the following. (2 × 15 = 30) 

 

Q13) State the deducting from salary income of an assesses under section 80C of 

income tax Act. 

 òÜ„æü¯Œþ 80C B§éÄ¶ý$ ^èþrt… {ç³M>ÆæÿÐ@þ¬, AòÜïÜÞ Äñý¬MæüP i™èþ… ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬ 
ÌñýMìüP…^èþ$¯@þç³šyæþ$ Ðésìý @̄þ$…yìþ ™èþWY…ç³#Ë$ Væü*Ça ÑÐ@þÇ… è̂þ$Ð@þ¬. 

  

Q14) How do you determine the residential status of a individual? 
 Ð@þÅMìü¢ Äñý¬MæüP °ÐéçÜ {ç³†ç³†¢° HÑ«§æþ…V> °Ææÿ~Æÿ¬…™èþ$Ææÿ$. 
  

Q15) From the following particulars compute taxable income from salary for the year 

ended 31st March 2016. 

• Basic salary Rs. 42,600 per month. 

• Dearness allowances 25% of basic salary. 

• Bonus   Rs. 25,000 

• City compensatory allowance  Rs. 13,000 



   

• Fixed medical allowance  Rs. 10,000 

• Special allowance  Rs. 18,000 

• Laptop   Rs. 65,000 

• House rent allowance received  Rs. 62,000 

• Rent paid (Guntur)  Rs. 84,000 

• Interest Free loans granted to ` 15,000 for medical purpose  

 of the assessee. Interest rate as per SBI rate is 10% per annum. 

• Employer’s contribution to SPF  ` 36,000 

• Employee own contribution to SPF  ` 36,000 

• LIP Paid   ` 24,000 

 

 

 

 

 
 Ð@þ*Ça 31, 2016 ¯ésìýMìü ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ ç³¯@þ$² ^ðþÍÏ…^èþÐ@þËíÜ¯@þ i™èþ… ¯@þ$…yìþ 

B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 
• Ð@þÊË i™èþÐ@þ¬ ¯ðþËMæü$  Ææÿ*. 42,600 

• MæüÆæÿ$Ð@þ# ¿¶ý™èþÅÐ@þ¬  Ð@þÊË i™èþ…ÌZ 25 Ô>™èþÐ@þ¬. 

• »Z @̄þ‹Ü   Ææÿ*. 25,000 

• ¯@þVæüÆæÿ ç³ÇàÆæÿ ¿¶ý™èþÅÐ@þ¬  Ææÿ*. 13,000 

• íÜ¦Ææÿ OÐðþ§æþÅ ¿¶ý™èþÅÐ@þ¬  Ææÿ*. 10,000 

• {ç³™óþÅMæü ¿¶ý™èþÅÐ@þ¬  Ææÿ*. 18,000 

• Ä¶ý$fÐ@þ*° E§øÅWMìü C_ā @þ Ìê‹³sê‹³ ÑË$Ð@þ  Ææÿ*. 65,000 

• E§øÅW ïÜÓMæüÇ…_ @̄þ C…sìý A§ðþª ¿¶ý™èþÅÐ@þ¬  Ææÿ*. 62,000 

• Væü$…r*Ææÿ$ÌZ ¯@þ$¯@þ² °ÐéçÜ Væü–çßý… @̄þMæü$ ^ðþÍÏ…_¯@þ A§ðþª  Ææÿ*. 84,000 

• OÐðþ§æþÅ QÆæÿ$aË °Ñ$™èþ¢Ð@þ¬ E§øÅW ´÷…¨¯@þ Ð@þyîþz Ìôý° º¬×ýÐ@þ¬  Ææÿ*. 15,000 
SBI {ç³M>ÆæÿÐ@þ¬ A§óþ º¬×ý…Oò³ 10 Ô>™èþÐ@þ¬  
Ð@þyîþz Ð@þçÜ*Ë$ ^óþÄ¶ý¬§æþ$Ææÿ$. 

• Ô>çÜ¯é™èþÃMæü ¿¶ýÑçÙÅ °«̈ Mìü Ä¶ý$fÐ@þ*° ð̂þÍÏ…_¯@þ¨  Ææÿ*. 36,000 

• Ô>çÜ¯é™èþÃMæü ¿¶ýÑçÙÅ °«̈ Mìü E§øÅW ^ðþÍÏ…_ @̄þ Ððþ¬™èþ¢Ð@þ¬  Ææÿ*. 36,000 

• E§øÅW ^ðþÍÏ…_ @̄þ iÑ™èþ ÁÐ@þ* {ï³Ñ$Ä¶ý$Ð@þ¬  Ææÿ*. 24,000 
      

Q16) Mr. Pokiri gives the following particulars basing on which compute his taxable 

income for the assessment year 2016-2017. 

    ` 

• Actual rental value 4,80,000 



   

• Fair rental value 4,84,000 

• Municipal value 4,83,000 

• Municipal taxes 32,000 

• Owner pays 80% municipal taxes during the previous year  

• Municipal taxes paid by tenant 6,000 

• Municipal taxes for the year 2014-15 amounting to  

` 8,000 was paid during the year 2015-2016 

• Fire insurance premium 3,000 

• Ground rent 4,100 

• Lift maintenance charges 8,800 

• Interest on loan taken for renovation of house property 32,000 

 
 2016&2017 ç³¯@þ$² °Æ>®Ææÿ×ý çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ ´ùMìüÇ ¨Væü$Ð@þ C_ā @þ çÜÐ@þ*^éÆæÿÐ@þ¬ ¯@þ$…yìþ ç³¯@þ$² 

^ðþÍÏ…^èþÐ@þËíÜ¯@þ Væü–àíÜ¢ ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 
     Ææÿ*. 

• ÐéçÜ¢Ð@þ A§ðþª ÑË$Ð@þ 4,80,000 

• Ä¶ý¬Mæü¢OÐðþ$¯@þ A§ðþª 4,84,000 

• Ð@þ¬°íÜç³ÌŒý ÑË$Ð@þ 4,83,000 

• Ð@þ¬°íÜç³ÌŒý ç³¯@þ$² 32,000 

• Væü™èþ çÜ…Ð@þ™èþÞÆæÿ…ÌZ Ä¶ý$fÐ@þ*° ð̂þÍÏ…_ @̄þ Ð@þ¬°íÜç³ÌŒý ç³¯@þ$² 80 Ô>™èþÐ@þ¬ 

• Væü–àíÜ¢ A§ðþªMæü$ ¡çÜ$Mæü$¯@þ² Ð@þÅMìü¢ (sñý ð̄þ…sŒý) ^ðþÍÏ…_ @̄þ Ð@þ¬°íÜç³ÌŒý ç³¯@þ$²  6,000 

• 2014&2015 çÜ…º…«̈ …_ @̄þ Ð@þ¬°íÜç³ÌŒý ç³¯@þ$²̄ @þ$ Ææÿ*. 8,000 
2015&2016ÌZ ^ðþÍÏ… ð̂þ¯@þ$ 

• ^ðþÍÏ…_¯@þ AW² ÁÐ@þ* {ï³Ñ$Ä¶ý$Ð@þ¬ 3,000 

• ¿¶ý*Ñ$ ÕçÜ$¢ 4,100 

• Í‹œt °ÆæÿÓçßý×ý QÆæÿ$aË$ 8,800 

• Væü–àíÜ¢ ç³#¯@þÇ²Æ>Ã×ýÐ@þ¬ MöÆæÿMæü$ ´÷…¨¯@þ º¬×ý…Oò³ Ð@þyîþz  32,000 
 

  
���� 
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BUSINESS CORRESPONDENCE AND REPORT WRITING 
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     SECTION - A  

     Answer any four of the following. (4 × 3 = 12) 
        

Q1) Informal Communication. 
 Ìê…bèþ¯@þ {́ ëÄ¶ý$Ð@þ¬M>° ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬. 
  

Q2)  Verbal Communication. 
 ÐðþÆæÿ¾ÌŒý MæüÐ@þÊÅ°MóüçÙ¯Œþ. 
   

Q3)  Oral Communication. 
 Ð@þ◊SMæü ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬. 
   

Q4) Interpersonal. 
 A…™èþÆæÿY™èþ Ð@þÅMìü¢Væü™èþ ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬. 
  

Q5) Mass Communication. 
 f¯@þ»êçßý$â¶ýÅ ÐéÆ>¢ {ç³ÝëÆæÿÐ@þ¬. 
  

Q6) Upward Communication. 
 FÆæÿ®ÓÐ@þ¬Q ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬. 
  

Q7) Business letter. 
 ÐéÅ´ëÆæÿ ÌôýQ. 
  

Q8) Structure of a letter. 
 ÐéÅ´ëÆæÿ ÌôýQ Äñý¬MæüP °Æ>Ã×ýÐ@þ¬. 
 
     SECTION – B 

     Answer any two of the following. (2 × 8 = 16) 

   

Q9) Name the factors of Communication. 
 MæüÐ@þÊÅ°MóüçÙ¯Œþ M>ÆæÿM>Ë @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 
Q10) How is group Communication different from Mass Communication? 
 çÜÐ@þÊçßý ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬¯@þMæü$ f¯@þ »êçßý$â¶ýÅ ÐéÆ>¢ {ç³ÝëÆæÿÐ@þ¬¯@þMæü$ ™óþyéÌôýÑ$sìý? 
 



   

Q11) What are the advantages of e-mail? 
 C.Ðóþ$ÌŒý {ç³Äñý*f¯@þÐ@þ¬Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q12) What do you mean by Written Communication? 
 ÍS™èþ ç³NÆæÿÓMæü ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬ A¯@þV>¯óþÑ$ ÑÐ@þÇ… è̂þ$Ð@þ¬? 
  

     SECTION – C 

     Answer any three of the following. (3 × 14 = 42) 

 

Q13) Name three objectives of upward Communication. 
 FÆæÿ®ÓÐ@þ¬Q ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬ Äñý¬MæüP Ð@þÊyæþ$ Ë„æü ÅÐ@þ¬Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q14) What is grapevine? How can management use it? 
 “V>ç³OÐðþ¯Œþ A¯@þV>¯óþÑ$ Ð@þ$ÇÄ¶ý¬ §é°° Ä¶ý*fÐ@þ*¯@þÅÐ@þ¬ HÑ«§æþÐ@þ¬V> Eç³Äñý*W… è̂þ$¯@þ$. 
  

Q15) What is meant by barriers to Communication? 
 ¿êÐ@þ{ç³ÝëÆæÿ Br…M>Ë @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
      

Q16) How does effective feedback improve Communication? 
 çÜÐ@þ$Ææÿ®Ð@þ…™èþOÐðþ$¯@þ ïœyŠþ»êMŠü MæüÐ@þÊÅ°MóüçÙ¯Œþ¯@þ$ GÌê Ððþ$Ææÿ$Væü$ç³Ææÿ$çÜ$¢…¨? 
  

Q17) What are the main factors that influence inter personal Communication? 
 A…™èþÆæÿY™èþ Ð@þÅMìü¢Væü™èþ ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ Ð@þ*ÇµyìþMìü {ç³¿êÑ™èþÐ@þ$Äôý$Å {ç³«§é¯@þ M>ÆæÿM>Ë$ HÑ$sìý? 

ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q18) Explain the possibility of errors in Collection of data for report writing and 

editing of data. 
 °Ðóþ¨Mæü¯@þ$ {ÐéÄ¶ý¬rMæü$V>¯@þ$ çÜÐ@þÇ…^èþ$rMæü$ V>¯@þ$ §æþ™é¢…Ô¶ýÐ@þ¬¯@þ$ õÜMæüÇ…^èþ$¯@þç³šyæþ$ 

™èþç³šË¯@þ$ {ÐéÄ¶ý¬rMæü$ çÜ…¿êÑ™èþ¯@þ$ ™ðþË$µÐ@þ¬. 

  

���� 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) File organization. 
 OòœË$ BÆæÿYŌ ðþgôýçÙ¯@þ$. 
  

Q2)  Building database. 
 ¼Íz…VŠü yóþsê»ôý‹Ü. 
  

Q3)  Sorting the database. 
 yóþsê»ôý‹Ü ÝëÇt…VŠü.  
  

Q4) Overview of Work Sheet. 
 Ð@þÆæÿ$P ç³{™èþÐ@þ¬ Äñý¬MæüP çÜÒ$„æü. 
  

Q5) Dialog boxes. 
 OyðþÌêVŠü »êMæü$ÞË$. 
  

Q6) Find and Replace. 
 Oòœ…yæþ$ Ð@þ$ÇÄ¶ý¬ Çõ³Ï‹Ü. 
  

Q7) Graphs. 
 “V>íœMŠüË$. 
  

Q8) Basic concepts of windows. 
 Ñ…yø Äñý¬MæüP {́ ë£æþÑ$Mæü ¿êÐ@þ¯@þË$. 
 
     SECTION – B 

     Answer any Two questions. (2 × 8 = 16) 

   

Q9) Explain the following : 

a) Data input and manipulation. 

b) Source document. 
 D “Mìü…¨ Ðésìý° ÑÐ@þÇ…^èþ…yìþ. 

a) yóþsê C Œ̄þç³#sŒý Ð@þ$ÇÄ¶ý¬ Ðóþ$°ç³#ÌôýçÙ¯@þ$. 
b) ÝùÆæÿ$Þ yéMæü$ÅÐðþ$…r$. 

Q10) Explain performing calculations with list and Display. 



   

 List Ð@þ$ÇÄ¶ý¬ Display ™ø Calculation ^óþÝë¢Æø ÑÐ@þÇ…^èþ…yìþ. 
 

Q11) How can you print worksheet? 
 Ð@þÆæÿ$P ç³{™èþÐ@þ¬¯@þ$ GÌê {í³…r$ ^óþÝë¢Ææÿ$? 
  

Q12) Explain about management under windows. 

 Window ÌZ VæüË OòœË$ Ðóþ$¯óþkÐðþ$…r$ Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 
  

     SECTION – C 

     Answer any Three question. (3 × 14 = 42) 

 

Q13) Explain about number format and text format. 

 ¯@þ…ºÆæÿ$ ¸ëÆóÿÃr$ Ð@þ$ÇÄ¶ý¬ text ¸ëÆóÿÃr$ Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 
  

Q14) Explain the concept of data storage with regard to computers. 

 Computer Ä¶ý$…§æþ$ Ðéyæþ$ yóþsêÝùtÆóÿhË Äñý¬MæüP ¿êÐ@þ¯@þË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
  

Q15) Write a procedure to create Report. 
 Ç´ùÆæÿ$t ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬ ç³§æþ®†° {ÐéÄ¶ý$…yìþ. 
      

Q16) What are the options in Edit menu and view menu? 

 Edit  Ððþ$¯@þ$ Ð@þ$ÇÄ¶ý¬ view  Ððþ$¯@þ*ÌZ VæüË optionË$ HÑ? 
  

Q17) What are the important commands of DBASE? Explain with examples. 

 DBASE  Äñý¬MæüP Ð@þ¬QÅOÐðþ$¯@þ MæüÐ@þ*…yæþ$Ï HÑ? E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ…^èþ…yìþ. 
  

Q18) Write down the steps to create business letters using letter wizard. 

 ÌñýrÆæÿ$ ÑgêÆæÿ$z° Eç³Äñý*W…_ ¼h¯ðþ‹Ü ÌñýrÆæÿ$Ï create ^óþÄ¶ý¬rMæü$ step Ë @̄þ$ {ÐéÄ¶ý$…yìþ. 

  

���� 
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SECTION – A 

        Answer any FOUR of the following                       (4 × 3 = 12) 

Q1) Sweat Equity Shares.  

 òÜÓsŒý DMìüÓsìý ÐésêË$. 

 

  

Q2)  Need of Valuation of Shares.  

 Ðésê Ð@þÊÌêÅ…Mæü¯@þ BÐ@þÔ¶ýÅMæü™èþ. 

 

   

Q3) Slip System of posting.  

 `sìý Ñ«§é¯@þ…¯@þ ¯@þÐðþ*§æþ$. 

 

Q4) Valuation Balance Sheet. 

 Ð@þÊÌêÅ…Mæü¯@þ BíÜ¢ Aç³šË ç³sìýt. 

   

Q5)  Fair value method.  

 çÜÐ@þ¬_™èþ ÑË$Ð@þ ç³§æþ®†. 



   

 

   

Q6)  General Insurance.   

 Ýë«§éÆæÿ×ý ÁÐ@þ*. 

 

Q7)  Liquidator statement.  

 ÍMìüÓyóþrÆŠÿ °Ðóþ¨Mæü. 

 

 

Q8)  Holding company.     

        çßZÍz…VŠü Mæü…ò³±. 

 
SECTION – B 

          Answer any TWO of the following                     (2 × 8 = 16) 

Q9) Rani Limited had issued 2,00,000 equity shares of Rs. 100 each. Rs. 90 paid up. 

The following resolutions were passed by Board of Directors of the company. 

a) Existing shares to be made fully paid up without share holders having to pay 

anything. 

b) That further 20% of the existing shares of bonus shares of Rs. 100 each at a 

premium of Rs. 10 per share to be issued to existing share holders. 
 

Balances in the books of account are as follows: 

 General Reserve – Rs. 15,60,000 

 Capital Reserve – Rs. 10,00,000 

 Revaluation Reserve – Rs. 6,40,000 

 Profit & Loss A/c – Rs. 43,32,000 



   

 Pass journal entries to make effect of the above stated. 

 2,00,000 DMìüÓsìýÐésêË$ 1Mìü Ææÿ*. 100, Ææÿ*. 90 ð̂þÍÏ…_ @̄þ Ðésê Ð@þÊË«§æþ¯@þÐ@þ¬ Æ>×ìý 

Mæü…ò³± ÐéÆæÿ$ gêÈ^óþíÜ†Ç Æ>×ìý Mæü…ò³± »ZÆŠÿz ÐéÆæÿ$ “Mìü…¨ ™ðþÍí³¯@þ ÐésìýMìü ¡Æ>Ã¯éË$ 

A¯@þ$Ð@þ$†…_†Ç. 

 a) {ç³çÜ$¢™èþÐ@þ¬ ^ðþÍÏ…_ @̄þ ÐésêËOò³ Ðésê§éÆæÿ$Ë$ ç³NÇ¢ ÑË$Ð@þ ^ðþÍÏ…^èþ¯@þç³µsìýMìü 

ÐésêË¯@þ$ ç³NÇ¢V> ^ðþÍÏ…_ @̄þ ÐésìýV> Ð@þ*ÆæÿayæþÐ@þ¬. 

 b) C…Mæü¯@þ*, {ç³çÜ$¢™èþÐ@þ¬¯@þ² ÐésêËÌZ 20 Ô>™èþÐ@þ¬ ç³NÇ¢V> ð̂þÍÏ…_¯@þ »Z¯@þ‹Ü ÐésêË$ 

1Mìü Ææÿ*. 100 Ð@þ$ÇÄ¶ý¬ Ææÿ*. 10 {ï³Ñ$Ä¶ý$Ð@þ¬™ø {ç³çÜ$¢™èþ Ðésê§éÆæÿ$ËMæü$ gêÈ 

^óþÄ¶ý¬rMæü$ A…XMæüÇ…^ðþ¯@þ$. 

 Mæü…ò³± ç³#çÜ¢M>ËÌZ @̄þÐðþ*O§ðþ¯@þ ÑÐ@þÆæÿÐ@þ¬Ë$: 

 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó Ææÿ*. 15,60,000 

 Ð@þÊË«§æþ¯@þ ÇfÆæÿ$Ó Ææÿ*. 10,00,000 

 ç³#¯@þÆæÿ*ÃÌêÅ…Mæü¯@þ…Oò³ E™èþµ̄ @þ²OÐðþ$¯@þ Ð@þÊË«§æþ¯@þ ÇfÆæÿ$Ó Ææÿ*. 6,40,000  

 Ìê¿¶ý¯@þÚëtË Rê™é Ææÿ*. 43,32,000 

 AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtç³§æþ$ªË$ {ÐéÄ¶ý¬Ð@þ¬. 

 
   

Q10) Describe the types of preference share.  

 A«̈ MæüÅç³# ÐésêË ÆæÿM>Ë$ Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 
 
 

Q11)The following is the balance sheet of Madhu Ltd. As on 31/3/2015. 

 Liabilities Amount Assets Amount 

 10,000 equity shares  Fixed Assets 2,20,000 

 of Rs. 10 each fully paid 1,00,000 Current Assets 1,10,000 

 10,000 equity shares  Preliminary Expenses 5,000 

 of Rs. 10 each Rs. 8 per  Floating Assets 5,000 



   

 share paid up 80,000  

 10,000 equity shares  

 of Rs. 10 each Rs. 5 per 

 share paid up 50,000 

 Reserves 50,000 

 Profit and loss Account 50,000 

 Creditors 10,000 

  3,40,000  3,40,000  

 The normal average profit of the company after tax will be maintained at                 

Rs. 46,000/- and normal rate of return is 8%. Calculate the value of each type of 

equity share by the assets backing method and yield basis method?  

 Ð@þ$««§æþ$ ÍÑ$sñýyŠþ BíÜ¢ Aç³šË ç³sìýt 31/3/2015 @̄þ ™óþ¨¯@þ “Mìü…¨ Ñ«§æþÐ@þ¬V> Ð@þ#¯@þ²̈ . 

 Aç³šË$ Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

 10,000 DMìüÓsìýÐésêË$   íÜ¦Æ>çÜ$¢Ë$ 2,20,000 

 JMøPMæüPsìý Ææÿ*. 10/& ç³NÇ¢  {ç³çÜ$¢™èþ BçÜ$¢Ë$ 1,10,000 

 ^ðþÍÏ…_ @̄þÑ 1,00,000  {́ ë«§æþÑ$Mæü QÆæÿ$aË$ 5,000 

 10,000 DMìüÓsìý ÐésêË$  ´ùÏsìý…VŠü BçÜ$¢Ë$ 5,000 

 JMøPMæüPsìý Ææÿ*. 10/& ^öç³š¯@þ   

 ÐésêMæü$ Ææÿ*. 8/& ^öç³š¯@þ 

 ^ðþÍÏ…_ @̄þÑ 80,000  

 10,000 DMìüÓsìý ÐésêË$   

 JMøPMæüPsìý Ææÿ*. 10/& ^öç³š¯@þ   

 ÐésêMæü$ Ææÿ*. 5/& ^öç³š¯@þ 

 ^ðþÍÏ…_ @̄þÑ 50,000 



   

 ÇfÆæÿ$ÓË$ 50,000 

 Ìê¿¶ý @̄þÚëtËRê™é 50,000 

 º¬×ý§é™èþË$ 10,000 

  3,40,000  3,40,000  

 ç³¯@þ$² ™èþÆæÿ$Ðé™èþ Ýë«§éÆæÿ×ý çÜÆ>çÜÇ Mæü…ò³± Ìê¿êË$ Ææÿ*. 46,000/& °ÆæÿÓíßýçÜ$¢…¨. 

Ýë«§éÆæÿ×ý Æ>ºyìþ Æóÿr$ 8% DMìüÓsìý Ðésê ÑË$Ð@þ¯@þ$ °MæüÆæÿ BçÜ$¢Ë$ Ð@þ$ÇÄ¶ý¬ Æ>ºyìþ B«§éÆæÿ 

ç³§æþ®™èþ$Ë §éÓÆ> Mæü¯@þ$Vö¯@þ…yìþ.ÿ 

 

Q12)What are the legal provisions relating to preparation of final accounts of banks? 

 »êÅ…Mæü$ Ð@þ¬W…ç³# ÌñýMæüPË$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬rMæü$ çÜ…º…«̈ …_ Ô>çÜ¯é™èþÃMæü °º…«§æþ¯@þË$ 

HÑ$? 

 

 
 

SECTION – C 

   Answer any Three of the following questions             (3 × 14 = 42) 

Q13) Following is the balance sheet of a trader as on 31st  December 2015. 

 Liabilities Amount Assets Amount 

 Capital 1,64,000 Land and Buildings 36,000 

 General Reserve 40,000 Plant 54,000 

 Creditors 38,040 Investment 30,000 

   Stock 26,850 

   Bank 75,990 

   Debtors 19,200 

  2,42,040  2,42,040 

 Following were the profits for the year ended  

 31st December 2013 Rs. 32,280 

 31
st
 December 2014 Rs. 36,870 



   

 31
st
 December 2015 Rs. 43,350 

 Above figures include income from investments of Rs. 1,800 each year. You are 

required to value the goodwill of the above business at 2 years. Purchase of the 

average super profits for 3 years taking into account the fact that the standard 

rate of return on capital employed is 10% assuming that each years profit is 

immediately with drawn in full by the trader. 

 31/12/2015 çÜ…Ð@þ™èþÞÆæÿÐ@þ¬¯@þMæü$ JMæü Ð@þÆæÿ¢Mæü$°Mìü çÜ…º…«̈ …_ @̄þ BíÜ¢ Aç³šË ç³sìýt “Mìü…§æþ 

CÐ@þÓºyìþ¯@þ¨. 

 Aç³šË$ Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

 Ð@þÊË«§æþ¯@þÐ@þ¬ 1,64,000 ¿¶ý*Ñ$, ¿¶ýÐ@þ¯éË$ 36,000 

 Ýë«§éÆæÿ×ýÇfÆæÿ$Ó 40,000 ¸ëÏ…r$  54,000 

 º¬×ý§é™èþË$ 38,040 ò³r$tºyæþ$Ë$ 30,000 

   çÜÆæÿ$Mæü$ 26,850 

   »êÅ…Mæü$ 75,990 

   º¬×ý“VæüçÜ$¢Ë$ 19,200 

  2,42,040  2,42,040 

 

 çÜ…Ð@þ™èþÞÆ>…™èþÐ@þ¬¯@þ VæüË Ìê¿êË$ “Mìü…¨ CÐ@þÓºyìþ¯@þ¨ 

 2013 yìþòÜ…ºÆæÿ$ 31¯@þ Ææÿ*. 32,280 

 2014 yìþòÜ…ºÆæÿ$ 31¯@þ Ææÿ*. 36,870 

 2015 yìþòÜ…ºÆæÿ$ 31¯@þ Ææÿ*. 43,350 

 Oò³¯@þ Mæü¯@þºÆæÿ_ @̄þ ÐésìýÌZ ò³r$tºyæþ$Ë ¯@þ$…yìþ çÜ…“MæüÑ$…_ @̄þ B§éÄ¶ý$… {ç³† çÜ…Ð@þ™èþÞÆæÿÐ@þ¬¯@þMæü$ 

Ææÿ*. 1,800/& MæüËíÜ E¯@þ²̈ . Væü™èþ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë çÜVæür$ Ìê¿êË B«§éÆæÿ…™ø Æðÿ…yæþ$ 

çÜ…Ð@þ™èþÞÆ>Ë A™èþÅ«¨Mæü Ìê¿êË Mö¯@þ$VøË$ ç³§æþ®†° Væü$yŠþÑÌŒý¯@þ$ ÌñýMæüP Mæürt…yìþ Ð@þÊË«§æþ¯@þ 



   

ò³r$tºyìþ Ò$§æþ 10 Ô>™èþÐ@þ¬ {́ ëÐ@þ*×ìýMæü Æ>ºyìþ Ð@þ$ÇÄ¶ý¬ Ð@þÆæÿ¢Mæü$yæþ$ {ç³† çÜ…Ð@þ™èþÞÆæÿ… Ð@þ_ā @þ 

Ìê¿ê°² ç³NÇ¢V> Eç³çÜ…çßýÇ…^èþ$ Mö…sêyæþ$ A¯óþ ¿êÐ@þ¯@þÌZ ÌñýMæüPMæürt…yìþ. 

Q14) ‘X’ company limited was taken over by ‘Y’ company limited upon the following 

terms: 

a) The ‘Y’ company is to assume the liabilities and to take over the assets of ‘X’ 

company at book value. 

b) The company is to discharge the debentures in ‘X’ company at a premium of 

5% by the issue of debentures in ‘Y’ Company. 

c) The ‘Y’ company is to pay the share holders in the ‘X’ company Rs. 10/- per 

share is cash and to give Rs. 10/- shares in the ‘Y’ company for every shares 

in ‘X’ company. 
 

The following is the balance sheet of ‘X’ company as at 31st December 2005. 

Liabilities Amount Assets Amount 

Capital 

47,500 shares  Goodwill 7,00,000 

paid-up Rs. 20 each 9,50,000 Buildings 3,13,000 

5% Debentures 2,40,000 Plant 64,200 

Reserve fund 3,00,000 Fixtures 17,000 

Sundry creditors 1,53,000 Debtors 2,19,800 

Profit & loss Account 99,200 Stock 3,86,200    

  Cash 42,000 

 17,42,200  17,42,200 

Show ledger accounts to close the books of ‘X’ opening entries in the books of 

‘Y’. 

 

 



   

 D “Mìü…¨  çÙÆæÿ™èþ$ËOò³ ‘X’ Mæü…ò³± ‘Y’ Mæü…ò³± çÜ…Î¯@þÐ@þ¬ ^óþçÜ$Mö…r$…¨. 

a) ‘Y’ Mæü…ò³± ‘X’ Mæü…ò³± BçÜ$¢Ë¯@þ$, Aç³šË¯@þ$ ç³#çÜ¢Mæü ÑË$Ð@þ Ðóþ$ÆæÿMæü$ ¡çÜ$Mö…r$…¨. 

b) ‘X’ Mæü…ò³± yìþ»ñý…^èþÆæÿÏ̄ @þ$, 5% {ï³Ñ$Ä¶ý$ÐŒþ$ÌZ ‘Y’ Mæü…ò³±ÌZ° yìþ»ñý… è̂þÆæÿÏ gêÈ §éÓÆ> 

ÑÐðþ*^èþ¯@þ… ^óþçÜ$¢…¨. 

 c) ‘Y’ Mæü…ò³± ‘X’ Mæü…ò³± Ðésê§éÆæÿ$ËMæü$ {ç³† ÐésêMæü$ Ææÿ*. 10/& @̄þVæü§æþ$ 

^ðþÍÏ…^èþ$rMæü$ ‘X’ Mæü…ò³±ÌZ° {ç³† ÐésêMæü$ ‘Y’ Mæü…ò³±ÌZ° ÐésêË$ Ææÿ*. 10/& 

ÑË$Ð@þ VæüËÑ gêÈ^óþÄ¶ý¬rMæü$ A…XMæüÇ…^éÆæÿ$ 31/12/2005 BíÜ¢, Aç³šË ç³sìýt. 

 Aç³šË$ Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

 ÐésêÐ@þÊË«§æþ¯@þ…  Væü$yŠþÑÌŒý 7,00,000 

 47,500 ÐésêË$ Ææÿ*. 20/&  ¿¶ýÐ@þ¯éË$ 3,13,000 

 ^öç³š¯@þ ^ðþÍÏ…_¯@þÑ 9,50,000 ´ëÏ…r$ 64,200 

 5% yìþ»ñý…^èþÆæÿ$Ï 2,40,000 AÐ@þ$ÇMæüË$ 17,000 

 ÇfÆæÿ$Ó °«̈  3,00,000 º¬×ý “VæüçÜ$¢Ë$ 2,19,800 

 º¬×ý§é™èþË$ 1,53,000 çÜÆæÿ$Mæü$ 3,86,200 

 Ìê¿¶ý¯@þÚëtË Rê™é 99,200 ¯@þVæü§æþ$ 42,000 

  17,42,200  17,42,200 

 ‘X’ Mæü…ò³± Ð@þÊíÜÐóþÄ¶ý¬rMæü$ BÐ@þÆ>j Rê™éË$, ‘Y’ Mæü…ò³±  ç³#çÜ¢M>ËÌZ {́ ëÆæÿ…¿¶ý _sêt 

ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 

Q15)Give an account of Indian accounting standards. 

 ¿êÆæÿ™èþ§óþÔ¶ýç³# AMú…sìý…VŠü {ç³Ð@þ*×êË$ ™ðþË$ç³#Ð@þ¬. 



   

Q16)The Balance sheet of ‘A’ Ltd & ‘B’ Ltd is as follows: 

                                              Balance Sheet 

 Liabilities Altd Bltd Assets Altd Bltd 

   Rs. Rs.  Rs. Rs. 

 Share Capital   Sundry 

 Shares of Rs. 100 each 5,00,000 2,00,000 Assets 6,00,000 3,00,000 

 Reserves 1,40,000 50,000 1,500 shares 

 Profit & Loss A/c 1,00,000 30,000 in ‘B’ Ltd  2,40,000 - 

 Creditors  1,00,000 20,000 

   8,40,000 3,00,000  8,40,000 3,00,000 

 ‘B’ Ltd bad credit balance of Rs. 10,000/- in the reserves when ‘A’ Ltd acquired 

shares in it ‘B’ Ltd made a bonus issue of one share for every 5 shares beld, all 

out of post acquisition profits. Calculate cost of control before and after the 

bonus issue and prepare consolidated balance sheet. 

 

  A ÍÑ$sñýyŠþ, B ÍÑ$sñýyŠþ BíÜ¢ Aç³šË ç³sìýt D “Mìü…¨ Ñ«§æþ…V> MæüËÐ@þ#. 

                                        BíÜ¢ Aç³šË ç³sìýt 

 Aç³šË$ A ÍÑ$sñýyŠþ B ÍÑ$sñýyŠþ BçÜ$¢Ë$ A ÍÑ$sñýyŠþ B ÍÑ$sñýyŠþ 

 Ææÿ*. Ææÿ*.  Ææÿ*.   Ææÿ*. Ææÿ*. 

 ÐésêÐ@þÊË«§æþ¯@þ…   ÑÑ«§æþ BçÜ$¢Ë$  6,00,000 3,00,000 



   

 Ææÿ*. 100/&  5,00,000 2,00,000 1,500 ÐésêË$ 

 ÑË$Ð@þVæüË ÐésêË$   ‘B’ ÍÑ$sñýyŠþ ÌZ° 2,40,000 ----& 
 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó 1,40,000 50,000 
 Ìê¿¶ý¯@þÚëtËRê™é 1,00,000 30,000 
 º¬×ý“VæüçÜ$¢Ë$ 1,00,000 20,000 
  8,40,000 3,00,000  8,40,000 3,00,000 
 ‘A’ ÍÑ$sñýyŠþ,  ‘B’ ÍÑ$sñýyŠþ ÐésêË$ ¡çÜ$Mö¯óþrç³µsìýMìü ‘B’ ÍÑ$sñýyŠþ Ææÿ*. 10,000 “MðüyìþsŒý 

°ËÓ Ýë«§éÆæÿ×ý ÇfÆæÿ$ÓËÌZ E¯@þ²̈ .  ‘B’ ÍÑ$sñýyŠþ {ç³† 5 DMìüÓsìý ÐésêËMæü$ JMæüP DMìüÓsìý 

Ðésê¯@þ$ »Z @̄þçÜ$V> gêÈ ^óþÄ¶ý*Ë° °Ô¶ýaÆÿ¬…_…¨. Æ>»ZÄôý$ M>Ìê°Mìü çÜ…º…«̈ …_ @̄þ 

Ìê¿êË ¯@þ$…yìþ »Z @̄þ‹Ü ÐésêË$ gêÈ ^óþÄ¶ý$Mæü Ð@þ¬…§æþ$ gêÈ ^óþíÜ¯@þ ™èþÆæÿ$Ðé™èþ çÜ…çÜ¦ Äñý¬MæüP 

°Ä¶ý$…{™èþ×ý Ð@þÅÄ¶ý$…¯@þ$ ÌñýMìüP…_ B çÜ…çÜ¦ BíÜ¢ Aç³šË ç³sìýt° ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ? 

 

Q17)Briefly describe about profit prior to incorporation?  
 ¯@þÐðþ*§æþ$Mæü$ Ð@þ¬…§æþ$ Ìê¿êË$ Væü$Ç…_ Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬?  
 
Q18)What is meant by liquidation? Explain the modes of winding up of a company? 
 ç³ÇçÜÐ@þ*í³¢ A¯@þV>¯óþÑ$? Mæü…ò³± ç³ÇçÜÐ@þ*í³¢MìüV>¯@þ$ VæüË ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ? 
 
 

� � � 
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SECTION – A 

        Answer any FOUR of the following                    (4 × 3 = 12) 

Q1) Any three differences between management Accounting and cost Accounting.  

 °ÆæÿÓçßý×ý AMú…sìý…VŠü Ð@þ$ÇÄ¶ý¬ M>‹Üt AMú…sìý…VŠü Ð@þ$§æþÅVæüË HOÐðþ¯é Ð@þÊyæþ$ ™óþyéË¯@þ$ 

™ðþË$µÐ@þ¬. 

 

  

Q2)  Draw proforma of production budget.  

 E™èþµ†¢ ºyðþjsŒý Äñý¬MæüP @̄þÐ@þÊ¯é {ÐéÄ¶ý¬Ð@þ¬. 

 

   

Q3) Meaning of working capital.  

 °ÆæÿÓçßý×ý Ð@þÊË«§æþ¯@þÐ@þ¬ AÆæÿ®Ð@þ¬. 

 

Q4) Variable overhead variance. 

 ^èþÆæÿ KÐ@þÆŠÿ òßýyŠþ Ñ^èþÆæÿ×ý.  

   

Q5)  Application of funds  



   

 °«§æþ$Ë A¯@þ$Ð@þÇ¢…ç³#Ë$. 

 
   

Q6)  Current liabilities.   
 {ç³çÜ$¢™èþ Aç³šË$. 
 
Q7)  Examples of Morginal costs.  
 Ð@þ*Çj̄ @þ™èþ M>‹Üt E§éçßýÆæÿ×ýÐ@þ¬Ë$. 
 
 

Q8)  Fixed budget.     

        íÜ¦Ææÿ ºyðþjsŒý. 

 
SECTION – B 

    Answer any TWO of the following questions             (2 × 8 = 16) 

Q9) Explain the characteristics of management Accounting.  
 Ðóþ$¯óþgŒýÐðþ$…sŒý AMú…sìý…VŠü Ë„æü×êË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 
   

Q10) Explain the short commings in controlling budgets.  
 ºyðþjrÈ °Ä¶ý$…{™èþ×ý Äñý¬MæüP ÌZ´ëË$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q11)A manufacturing plant at 70% capacity utilization produces 14,000 units. The 

costs incurred as follows: 

     �

 Raw materials  21,00,000 

 Wages   21,28,000 

 Over heads  6,38,400 

 Administration costs 28,00,000 

 Selling and distribution costs                                      3,30,400 (70 % fixed) 

 Other fixed costs  6,00,000 

 Sales    90,00,000 

 Prepare a flexible budget at 90% capacity utilization of plant and of certain profit 

or loss.  

 

 70 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®ÅÐ@þ¬ Ð@þ§æþª JMæü Ä¶ý$…{™èþÐ@þ¬ E™èþµ†¢ ^óþÄ¶ý¬ Ð@þçÜ$¢Ð@þ#Ë$ 14,000 ÐésìýMìü 
çÜ…º…«̈ …_ @̄þ Ð@þÅÄ¶ý*Ë$ ¨Væü$Ð@þ CÐ@þÓyæþOÐðþ$¯@þÑ. 

     Ææÿ* 
 Ððþ$sîýÇÄ¶ý$ÌŒýÞ  21,00,000 



   

 Ðóþ™èþ¯éË$   21,28,000 
 KÐ@þÆŠÿ òßýyŠþÞ   6,38,400 
 °ÆæÿÓçßý×ý QÆæÿ$aË$  28,00,000 
 AÐ@þ$ÃM>Ë Ð@þ$ÇÄ¶ý¬ ç³…í³×îý QÆæÿ$aË$                              3,30,400 (íÜ¦Ææÿ Ð@þÅÄ¶ý*Ë$ 70%)  
 C™èþÆæÿ íÜ¦ÆæÿQÆæÿ$aË$  6,00,000 
 AÐ@þ$ÃM>Ë$   90,00,000 
 ´ëÏ…sŒý 90Ô>™èþ… ÝëÐ@þ$Ææÿ®Å… Ð@þ§æþª E™èþµ†¢ ^óþíÜ¯@þ^ø Ìê¿¶ýÐ@þ¬ Ìôý§é ¯@þçÙtÐ@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 
 
 
 

Q12)From the following information, prepare a cash flow statement as per As 3. 

  

 Liabilities     Assets  

    2015-16  2016-17   2015-16 2016-17 

    � �  � � 

 Equity share      Fixed Assets 80,00,000 90,00,000 

 Capital      Good will 2,50,000 3,00,000 

 (� 100 paid up.)  60,00,000  76,00,000 Copy rights 1,50,000 1,30,000 

 General Reserve 7,50,000 9,10,000 Investments 10,00,000 15,00,000 

      (long term) 

 Profit and Loss A/c 6,30,000 8,00,000 Stock 5,10,000 4,50,000 

 Secured loans  20,00,000 15,00,000 Debtors  4,40,000 4,00,000 

 Unsecured loans 10,00,000 5,00,000 Prepaid salaries 70,000 xx 

 Creditors  2,00,000 57,00,00 Cash at Bank 2,00,000 1,00,000 

 Out standing rent 40,000 xx   

    1,06,20,000  1,18,80,000  1,06,20,000 1,18,80,000 

 Additional Information  

a) An Item of business income of � 1,50,000 was not recorded in the books of 

Account.  

b) Plant Purchased during the previous year � 10,00,000 

 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë¯@þ$…yìþ ¯@þVæü§æþ$ {çÜÐ@þ…† °Ðóþ¨Mæü ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬Ð@þ¬. 
 Aç³šË$    2015--&16 2016&17 BçÜ$¢Ë$ 2015&16 2016&17 

     Ææÿ*. Ææÿ*.  Ææÿ*. Ææÿ*. 

 DMìüÓsîý ÐésêÐ@þÊË«§æþ¯@þÐ@þ¬   íÜ®Æ>çÜ$¢Ë$ 80,00,000 90,00,000 
 Ðésê 1Mìü Ææÿ* 100.  60,00,000 76,00,000 Væü$yŠþÑÌŒý 2,50,000 3,00,000 



   

 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó  7,50,000 9,10,000 M>ï³ OÆðÿsŒýÞ 1,50,000 1,30,000 
 Ìê¿¶ý ¯@þÚëtË Rê™é 6,30,000 8,00,000 ©ÆæÿƒM>Ë ò³r$tºyæþ$Ë$ 10,00,000 15,00,000 
 àÒ$VæüË º¬×êË$  20,00,000 15,00,000 ÝëtMæü$  5,10,000 4,50,000 
 àÒ$Ìôý° º¬×êË$ 10,00,000 5,00,000 º¬×ý“VæüçÜ$¢Ë$  4,40,000 4,00,000 
 º¬×ý§é™èþË$  2,00,000 5,70,000 Ð@þ¬…§æþ$V> ^ðþÍÏ…_¯@þ  

 ^ðþÍÏ…^èþÐ@þËíÜ @̄þ A§ðþª 40,000 xx i™éË$ 70,000 xx  

      Bank ÌZ ¯@þVæü§æþ$ 2,00,000 1,00,000    
    1,06,20,000 1,18,80,000  1,06,20,000 1,18,80,000 

 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿÐ@þ¬ :  

a)  ÐéÅ´ëÆæÿÐ@þ¬¯@þMæü$ çÜ…º…¨…_ Ææÿ*. 1,50,000 B§éÄ¶ý$Ð@þ¬ AMú…sŒýÞ ç³#çÜ¢M>ËÌZ 
¯@þÐðþ*§æþ$ M>Ìôý§æþ$. 

b) {ç³çÜ$¢™èþ çÜ…Ð@þ™èþÞÆæÿ…ÌZ Mö @̄þ$VøË$ ^óþíÜ¯@þ ´ëÏ…sŒý ÑË$Ð@þ Ææÿ*. 10,00,000. 
 

 

SECTION – C 

             Answer any Three of the following                   (3 × 14 = 42) 

Q13) Explain the advantages and limitations of funds flow statement.  

 °«§æþ$Ë {çÜÐ@þ…† °Ðóþ¨Mæü Äñý¬MæüP Eç³Äñý*V>Ë$ Ð@þ$ÇÄ¶ý¬ ç³ÇÑ$™èþ$Ë$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

   

Q14)Draw a proforma of cash budget for two months.   

 Æðÿ…yæþ$ ¯ðþËËMæü$ ¯@þVæü§æþ$ ºyðþjsŒý @̄þÐ@þÊ¯é¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬Ð@þ¬.  
 

Q15)Explain about labour variances.  

 “Ô¶ýÐ@þ$ Ñ^èþÆæÿ×ýÐ@þ¬Ë¯@þ$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

Q16)A project requires an outlay of � 30,00,000. With the following projected 

cinemas after tax for the FIVE years. 

  Year      PAT 

           �

1        9,20,000 

2                 14,60,000 



   

3                 18,50,000 

4                 16,80,000 

5                 10,70,000 

 Tax rate is 35% Discount factor is 12% 

 Find out  

a) Profitability Index 

b) (Npv.) Net Present Value.   

 JMæü {́ ëgñýMæü$t AÐ@þ$Ë$ ^óþÄ¶ý¬rMæü$ AÐ@þçÜÆæÿOÐðþ$¯@þ ò³r$tºyìþ Ææÿ*. 30,00,000 §é° ¯@þ$…yìþ 

A… è̂þ¯é ÐóþíÜ¯@þ Æ>ºyæþ$Ë$ 5 çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ËMæü$. 

 çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ B§éÄ¶ý$ç³¯@þ$²Mæü$ ™èþÆæÿ$Ðé™èþ Ìê¿¶ýÐ@þ¬ 
   Ææÿ*.  
 1  9,20,000 
 2  14,60,000 
 3  18,50,000 
 4  16,80,000 
 5  10,70,000 

 B§éÄ¶ý$ ç³¯@þ$²Æóÿr$ 35 Ô>™èþÐ@þ¬ yìþÝûP…sŒý Æóÿr$ 12 Ô>™èþÐ@þ¬ 

 Oò³ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ  

a) Ìê¿¶ý§éÄ¶ý$Mæü™èþ çÜ*` Ð@þ$ÇÄ¶ý¬  

b) °MæüÆæÿ {ç³çÜ$¢™èþ ÑË$Ð@þ ÌñýMìüP…ç³#Ð@þ¬ 

Q17)From the following information. Compute (a) P.V. ratio (b) Break even point    

(c) Margin of safety.  

 

 Sales    � 30,00,000 

 Materials  22 % of sales 

 Wages  26 % of sales 

 Overheads  12% of sales 



   

 Administration expenses � 6,00,000 

 Rent of factory   � 2,00,000 

 Selling and distribution expenses                � 3,00,000  (60% variable expenses) 

 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ (a)  í³.Ñ. °çÙµ†¢  (b) {»ôýMŠü DÐðþ¯Œþ ´ëÆÿ¬…sŒý Ð@þ$ÇÄ¶ý¬ (c)  Ææÿ„æü×ý 
AÐ@þ¨ ÌñýMìüP…ç³#Ð@þ¬. 

 

 AÐ@þ$ÃM>Ë$   Ææÿ*. 30,00,000 

 Ððþ$sîýÇÄ¶ý$ÌŒýÞ  AÐ@þ$ÃM>ËÌZ 22 Ô>™èþÐ@þ¬ 

 Ðóþ™èþ¯éË$   AÐ@þ$ÃM>ËÌZ 26 Ô>™èþÐ@þ¬ 

 KÐ@þÆŠÿ òßýyŠþÞ   AÐ@þ$ÃM>ËÌZ 12 Ô>™èþÐ@þ¬ 

 °ÆæÿÓçßý×ý QÆæÿ$aË$  Ææÿ*. 6,00,000 

 MæüÆ>ÃV>ÆæÿÐ@þ¬ A§ðþª  Ææÿ*. 2,00,000 

 AÐ@þ$ÃMæüÐ@þ¬ Ð@þ$ÇÄ¶ý¬  

 ç³…í³×îý Ð@þÅÄ¶ý$Ð@þ¬                                    Ææÿ*. 3,00,000 (60 Ô>™èþÐ@þ¬ ^èþÆæÿ Ð@þÅÄ¶ý$Ð@þ¬) 

 
Q18)From the following information calculate (i) Material price, cost usage and mix 

variouces. 

            Standard  Actual 

 Product Quantity Rate per unit Quantity Rate per unit  

   Units      � Units      � 

 I  2002  202.00 2000  205.00 

 J  2540  250.00 2600  246.00 

 K  1980  140.00 1980  141.00 



   

 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë¯@þ$…yìþ Ððþ$sîýÇÄ¶ý$ÌŒýÞ «§æþÆæÿ, M>‹Üt Ñ°Äñý*VæüÐ@þ¬ Ð@þ$ÇÄ¶ý¬ Ñ$MŠüÞ 

Ñ è̂þÆæÿ×ýÐ@þ¬Ë$ ÌñýMìüP…ç³#Ð@þ¬. 

                              {́ ëÐ@þ*×ìýMæüÐ@þ¬                                      ÐéçÜ¢Ð@þÐ@þ¬ 

 {́ ùyæþMŠüt ç³ÇÐ@þ*×ýÐ@þ¬ JMæü Ä¶ýÊ°sŒý «§æþÆæÿ  ç³ÇÐ@þ*×ýÐ@þ¬ JMæü Ä¶ýÊ°sŒý «§æþÆæÿ  

  Ä¶ýÊ°r$Ï Ææÿ*. Ä¶ýÊ°r$Ï Ææÿ*. 

 I 2002 202.00 2000 205.00 

 J 2540 250.00 2600 246.00 

 K 1980 140.00 1980 141.00 

 
 

� � � 

 
 

 

 

 


